

GENERALIZED STABILITY OF A GENERAL CUBIC FUNCTIONAL EQUATION

SUN-SOOK JIN AND YANG-HI LEE

ABSTRACT. The general cubic functional equation is a generalization of many functional equations such as Jensen functional equation and the general quadratic functional equation. In this paper, we investigate the generalized stability of the general cubic functional equation

$$f(x + 4y) - 4f(x + 3y) + 6f(x + 2y) - 4f(x + y) + f(x) = 0.$$

1. Introduction

In this paper, let V , X , and Y be a real vector space, a real normed space, and a real Banach space, respectively. To the problem of group isomorphism raised by Ulam [8] in 1940, the following year Hyers [2] provided a partial answer by solving the stability problem for the additive functional equation, and since then many mathematicians have generalized Hyers' stability results (see [1, 7] for more generalized results). Among them, the stability result shown by P. Găvruta below [1] can be said to be a major generalization of Hyers' results.

PROPOSITION 1.1. *Let $(G, +)$ be an abelian group and $\varphi : G^2 \rightarrow [0, \infty)$ be a function such that*

$$\tilde{\varphi}(x, y) := \sum_{k=0}^{\infty} 2^{-k} \varphi(x, y) < \infty$$

for all $x, y \in G$. If $f : G \rightarrow Y$ is a mapping such that

$$\|f(x + y) - f(x) - f(y)\| \leq \varphi(x, y)$$

Received October 15, 2024; Accepted November 30, 2024.

2020 Mathematics Subject Classification: Primary 39B82; 39B52.

Key words and phrases: stability of a functional equation; general cubic functional equation; general cubic mapping.

for all $x, y \in G$, then there exists a unique additive mapping $T : G \rightarrow Y$ such that

$$\|f(x) - T(x)\| \leq \frac{1}{2}\tilde{\varphi}(x, x)$$

for all $x \in G$.

And then K. W. Jun et al. [3] and Y. H. Lee [5] have previously studied the stability of a general cubic functional equation

$$(1.1) \quad f(x + 4y) - 4f(x + 3y) + 6f(x + 2y) - 4f(x + y) + f(x) = 0$$

for all $x, y \in V$. If $f : V \rightarrow Y$ is a solution mapping of the functional equation (1.1), then we call the mapping f a general cubic mapping.

In this paper, we will give concise results that have improved the existing results on the stability of the general cubic functional equation through a clearer proof.

2. Stability of a general cubic functional equation

Throughout this paper, for a given mapping $f : V \rightarrow Y$, we use the following abbreviations:

$$\begin{aligned} \tilde{f}(x) &:= f(x) - f(0), \\ f_1(x) &:= \frac{1}{12}(f(4x) - 12f(2x) + 32f(x)), \\ f_2(x) &:= -\frac{1}{8}(f(4x) - 10f(2x) + 16f(x)), \\ f_3(x) &:= \frac{1}{24}(f(4x) - 6f(2x) + 8f(x)), \\ \Delta_y^4 f(x) &:= f(x + 4y) - 4f(x + 3y) + 6f(x + 2y) - 4f(x + y) + f(x), \\ \Gamma f(x) &:= f(8x) - 14f(4x) + 56f(2x) - 64f(x) \end{aligned}$$

for all $x, y \in V$. By laborious computation we can get some useful equalities in the following lemma.

LEMMA 2.1. For a given mapping $f : V \rightarrow Y$, the equalities

$$(2.1) \quad f(x) = f_1(x) + f_2(x) + f_3(x)$$

$$(2.2) \quad \Delta_y^4 \tilde{f}(x) = \Delta_y^4 f(x),$$

$$(2.3) \quad \Gamma \tilde{f}(x) = \Delta_{-2x}^4 f(8x) + 4 \Delta_x^4 f(2x) + 16 \Delta_x^4 f(x) + 20 \Delta_{-x}^4 f(4x),$$

$$(2.4) \quad \tilde{f}_1(x) - \frac{\tilde{f}_1(2x)}{2} = -\frac{\Gamma \tilde{f}(x)}{24}, \quad \tilde{f}_1(x) - 2\tilde{f}_1\left(\frac{x}{2}\right) = \frac{1}{12}\Gamma \tilde{f}\left(\frac{x}{2}\right)$$

$$(2.5) \quad \tilde{f}_2(x) - \frac{\tilde{f}_2(2x)}{4} = \frac{\Gamma \tilde{f}(x)}{32}, \quad \tilde{f}_2(x) - 4\tilde{f}_2\left(\frac{x}{2}\right) = -\frac{1}{8}\Gamma \tilde{f}\left(\frac{x}{2}\right)$$

$$(2.6) \quad \tilde{f}_3(x) - \frac{\tilde{f}_3(2x)}{8} = -\frac{\Gamma \tilde{f}(x)}{192}, \quad \tilde{f}_3(x) - 2\tilde{f}_3\left(\frac{x}{2}\right) = \frac{1}{24}\Gamma \tilde{f}\left(\frac{x}{2}\right)$$

hold for all $x, y \in V$.

LEMMA 2.2. Let $f : V \rightarrow Y$ satisfy the functional equation

$$\Delta_y^4 f(x) = 0$$

for all $x, y \in V$, then we have

$$(2.7) \quad \tilde{f}_k(2x) = 2^k \tilde{f}_k(x)$$

for all $x \in V$ and each $k \in \{1, 2, 3\}$.

Proof. It is clear that $\Gamma \tilde{f}(x) = 0$ by (2.3). Therefore, the equality (2.7) follows from the equalities (2.4), (2.5), and (2.6). \square

According to Corollary 6 in [4], we obtain following Lemma.

LEMMA 2.3. [4] For a given mapping $f : V \rightarrow Y$, if there exist a mapping $F : V \rightarrow Y$ and a function $\phi : V \setminus \{0\} \rightarrow [0, \infty)$ that satisfy

$$\|f(x) - F(x)\| \leq \sum_{i=0}^{\infty} \frac{1}{2^i} \phi(2^i x) < \infty \quad \text{or}$$

$$\|f(x) - F(x)\| \leq \sum_{i=0}^{\infty} \frac{1}{2^{(\ell+1)i}} \phi(2^i x) + \sum_{i=0}^{\infty} 2^{\ell i} \phi\left(\frac{1}{2^i} x\right) < \infty \quad \text{or}$$

$$\|f(x) - F(x)\| \leq \sum_{i=0}^{\infty} 2^{3i} \phi\left(\frac{1}{2^i} x\right) < \infty$$

for all $x \in V \setminus \{0\}$ and for some $\ell \in \{1, 2\}$, where $F(x) = \sum_{k=1}^3 F_k(x)$ and every F_k has the property (2.7), i.e., $F_k(2x) = 2^k F_k(x)$ for all $x \in V$, then the mapping F is uniquely determined.

LEMMA 2.4. If a mapping $f : V \rightarrow Y$ satisfies the functional equation $\Delta_y^4 f(x) = 0$ for all $x, y \in V \setminus \{0\}$, then it is a general cubic mapping.

Proof. It is clear that $\Delta_0^4 f(x) = 0$ for all $x \in V$ and

$$\Delta_y^4 f(0) = \Delta_{-y}^4 f(4y) = 0$$

for all $y \in V \setminus \{0\}$. So $\Delta_y^4 f(x) = 0$ for all $x, y \in V$ as desired. \square

Now we show the theorem that improve the previous results(Theorem 3.2, Theorem 3.3, and Theorem 3.4 in [5]).

THEOREM 2.5. Let $\varphi : (V \setminus \{0\})^2 \rightarrow [0, \infty)$ be a function satisfying one of the following conditions

$$(2.8) \quad \sum_{i=0}^{\infty} 2^{-i} \varphi(2^i x, 2^i y) < \infty,$$

$$(2.9) \quad \sum_{i=0}^{\infty} 4^{-i} \varphi(2^i x, 2^i y) < \infty \quad \text{and} \quad \sum_{i=0}^{\infty} 2^i \varphi\left(\frac{x}{2^i}, \frac{y}{2^i}\right) < \infty,$$

$$(2.10) \quad \sum_{i=0}^{\infty} 8^{-i} \varphi(2^i x, 2^i y) < \infty \quad \text{and} \quad \sum_{i=0}^{\infty} 4^i \varphi\left(\frac{x}{2^i}, \frac{y}{2^i}\right) < \infty,$$

$$(2.11) \quad \sum_{i=0}^{\infty} 8^i \varphi\left(\frac{x}{2^i}, \frac{y}{2^i}\right) < \infty,$$

for all $x, y \in V \setminus \{0\}$. Suppose that $f : V \rightarrow Y$ is a mapping such that

$$(2.12) \quad \left\| \Delta_y^4 f(x) \right\| \leq \varphi(x, y)$$

for all $x, y \in V \setminus \{0\}$, then there exists a unique general cubic mapping $F : V \rightarrow Y$ such that $F(0) = 0$ and

$$(2.13) \quad \|\tilde{f}(x) - F(x)\| \leq \frac{1}{24} \sum_{i=0}^{\infty} \frac{\Phi(2^i x)}{2^i},$$

$$(2.14) \quad \|\tilde{f}(x) - F(x)\| \leq \frac{1}{12} \sum_{i=0}^{\infty} 2^i \Phi\left(\frac{x}{2^{i+1}}\right) + \frac{1}{32} \sum_{i=0}^{\infty} \frac{\Phi(2^i x)}{4^i},$$

$$(2.15) \quad \|\tilde{f}(x) - F(x)\| \leq \frac{1}{8} \sum_{i=0}^{\infty} 4^i \Phi\left(\frac{x}{2^{i+1}}\right) + \frac{1}{192} \sum_{i=0}^{\infty} \frac{\Phi(2^i x)}{8^i},$$

$$(2.16) \quad \|\tilde{f}(x) - F(x)\| \leq \frac{1}{24} \sum_{i=2}^{\infty} 8^i \Phi\left(\frac{x}{2^{i+1}}\right),$$

for all $x \in V \setminus \{0\}$ if φ satisfies (2.8), (2.9), (2.10), or (2.11), respectively, where the mapping $\Phi : V \setminus \{0\} \rightarrow [0, \infty)$ is defined by

$$\Phi(x) := \varphi(8x, -2x) + 4\varphi(2x, x) + 16\varphi(x, x) + 20\varphi(4x, -x).$$

Proof. Notice that, from (2.3) and (2.12), we have

$$(2.17) \quad \|\Gamma \tilde{f}(x)\| = \left\| \frac{4}{-2x} f(8x) + 4 \frac{4}{x} f(2x) + 16 \frac{4}{x} f(x) + 20 \frac{4}{-x} f(4x) \right\| \leq \Phi(x)$$

for all $x, y \in V \setminus \{0\}$. We prove the theorem in two steps.

Step 1. Let $k \in \{1, 2, 3\}$ and $\delta \in \{-1, 1\}$, and let φ satisfy

$$(2.18) \quad \sum_{n=0}^{\infty} \frac{\varphi(2^{\delta n} x, 2^{\delta n} y)}{2^{\delta kn}} < \infty$$

for all $x, y \in V \setminus \{0\}$. From (2.4), (2.5), (2.6), and (2.17), we have the inequalities

$$\begin{aligned} \left\| \frac{\tilde{f}_1(2^n x)}{2^n} - \frac{\tilde{f}_1(2^{n+m} x)}{2^{n+m}} \right\| &= \left\| \sum_{i=n}^{n+m-1} \left(\frac{\tilde{f}_1(2^i x)}{2^i} - \frac{\tilde{f}_1(2^{i+1} x)}{2^{i+1}} \right) \right\| \\ &\leq \frac{1}{24} \sum_{i=n}^{n+m-1} \left\| \frac{\Gamma \tilde{f}(2^i x)}{2^i} \right\| \leq \frac{1}{24} \sum_{i=n}^{n+m-1} \frac{\Phi(2^i x)}{2^i}, \end{aligned}$$

$$\begin{aligned} \left\| 2^n \tilde{f}_1\left(\frac{x}{2^n}\right) - 2^{n+m} \tilde{f}_1\left(\frac{x}{2^{n+m}}\right) \right\| &= \left\| \sum_{i=n}^{n+m-1} \left(2^i \tilde{f}_1\left(\frac{x}{2^i}\right) - 2^{i+1} \tilde{f}_1\left(\frac{x}{2^{i+1}}\right) \right) \right\| \\ &\leq \frac{1}{12} \sum_{i=n}^{n+m-1} \left\| 2^i \Gamma \tilde{f}\left(\frac{x}{2^{i+1}}\right) \right\| \leq \frac{1}{12} \sum_{i=n}^{n+m-1} 2^i \Phi\left(\frac{x}{2^{i+1}}\right), \end{aligned}$$

$$\begin{aligned} \left\| \frac{\tilde{f}_2(2^n x)}{4^n} - \frac{\tilde{f}_2(2^{n+m} x)}{4^{n+m}} \right\| &= \left\| \sum_{i=n}^{n+m-1} \left(\frac{\tilde{f}_2(2^i x)}{4^i} - \frac{\tilde{f}_2(2^{i+1} x)}{4^{i+1}} \right) \right\| \\ &\leq \frac{1}{32} \sum_{i=n}^{n+m-1} \left\| \frac{\Gamma \tilde{f}(2^i x)}{4^i} \right\| \leq \frac{1}{32} \sum_{i=n}^{n+m-1} \frac{\Phi(2^i x)}{4^i}, \end{aligned}$$

$$\begin{aligned} \left\| 4^n \tilde{f}_2\left(\frac{x}{2^n}\right) - 4^{n+m} \tilde{f}_2\left(\frac{x}{2^{n+m}}\right) \right\| &= \left\| \sum_{i=n}^{n+m-1} \left(4^i \tilde{f}_2\left(\frac{x}{2^i}\right) - 4^{i+1} \tilde{f}_2\left(\frac{x}{2^{i+1}}\right) \right) \right\| \\ &\leq \frac{1}{8} \sum_{i=n}^{n+m-1} \left\| 4^i \Gamma \tilde{f}\left(\frac{x}{2^{i+1}}\right) \right\| \leq \frac{1}{8} \sum_{i=n}^{n+m-1} 4^i \Phi\left(\frac{x}{2^{i+1}}\right), \end{aligned}$$

$$\begin{aligned} \left\| \frac{\tilde{f}_3(2^n x)}{8^n} - \frac{\tilde{f}_3(2^{n+m} x)}{8^{n+m}} \right\| &= \left\| \sum_{i=n}^{n+m-1} \left(\frac{\tilde{f}_3(2^i x)}{8^i} - \frac{\tilde{f}_3(2^{i+1} x)}{8^{i+1}} \right) \right\| \\ &\leq \frac{1}{192} \sum_{i=n}^{n+m-1} \left\| \frac{\Gamma \tilde{f}(2^i x)}{2^i} \right\| \leq \frac{1}{192} \sum_{i=n}^{n+m-1} \frac{\Phi(2^i x)}{8^i}, \end{aligned}$$

and

$$\begin{aligned} \left\| 8^n \tilde{f}_3\left(\frac{x}{2^n}\right) - 8^{n+m} \tilde{f}_3\left(\frac{x}{2^{n+m}}\right) \right\| &= \left\| \sum_{i=n}^{n+m-1} \left(8^i \tilde{f}_3\left(\frac{x}{2^i}\right) - 8^{i+1} \tilde{f}_3\left(\frac{x}{2^{i+1}}\right) \right) \right\| \\ &\leq \frac{1}{24} \sum_{i=n}^{n+m-1} \left\| 8^i \Gamma \tilde{f}\left(\frac{x}{2^{i+1}}\right) \right\| \leq \frac{1}{24} \sum_{i=n}^{n+m-1} 8^i \Phi\left(\frac{x}{2^{i+1}}\right) \end{aligned}$$

for all $x \in V \setminus \{0\}$ and $n, m \in \mathbb{N} \cup \{0\}$. It leads us to prove that $\left\{ \frac{\tilde{f}_k(2^{\delta n} x)}{2^{\delta k n}} \right\}$ is a Cauchy sequence for all $x \in V \setminus \{0\}$ if φ satisfies (2.18). Moreover, since Y is complete and $\tilde{f}_k(0) = 0$, the sequence converges for all $x \in V$. It follows that we can define a mapping $F_{\delta k} : V \rightarrow Y$ by

$$(2.19) \quad F_{\delta k}(x) := \lim_{n \rightarrow \infty} \frac{\tilde{f}_k(2^{\delta n} x)}{2^{\delta k n}} \quad \text{if } \varphi \text{ satisfies (2.18).}$$

Now we observe that the equality

$$\begin{aligned} \Delta_y^4 F_{\delta k}(x) &= F_{\delta k}(x+4y) - 4F_{\delta k}(x+3y) + 6F_{\delta k}(x+2y) \\ &\quad - 4F_{\delta k}(x+y) + F_{\delta k}(x) \\ &= \lim_{n \rightarrow \infty} \left(\frac{\tilde{f}_k(2^{\delta n}(x+4y))}{2^{\delta n}} - 4 \frac{\tilde{f}_k(2^{\delta n}(x+3y))}{2^{\delta n}} + 6 \frac{\tilde{f}_k(2^{\delta n}(x+2y))}{2^{\delta n}} \right. \\ &\quad \left. - 4 \frac{\tilde{f}_k(2^{\delta n}(x+y))}{2^{\delta n}} + \frac{\tilde{f}_k(2^{\delta n}x)}{2^{\delta n}} \right) \end{aligned}$$

holds for all $x, y \in V \setminus \{0\}$. Together with the definition of \tilde{f}_1 , if φ satisfies (2.18) for $k=1$, then we have

$$\begin{aligned} \left\| \Delta_y^4 F_{\delta}(x) \right\| &= \lim_{n \rightarrow \infty} \left\| \frac{1}{12} \left(\frac{\tilde{f}(2^{\delta n+2}(x+4y))}{2^{\delta n}} - 4 \frac{\tilde{f}(2^{\delta n+2}(x+3y))}{2^{\delta n}} \right) \right. \\ &\quad + \frac{1}{12} \left(6 \frac{\tilde{f}(2^{\delta n+2}(x+2y))}{2^{\delta n}} - 4 \frac{\tilde{f}(2^{\delta n+2}(x+y))}{2^{\delta n}} + \frac{\tilde{f}(2^{\delta n+2}x)}{2^{\delta n}} \right) \\ &\quad - \left(\frac{\tilde{f}(2^{\delta n+1}(x+4y))}{2^{\delta n}} - 4 \frac{\tilde{f}(2^{\delta n+1}(x+3y))}{2^{\delta n}} + 6 \frac{\tilde{f}(2^{\delta n+1}(x+2y))}{2^{\delta n}} \right) \\ &\quad - \left(-4 \frac{\tilde{f}(2^{\delta n+1}(x+y))}{2^{\delta n}} + \frac{\tilde{f}(2^{\delta n+1}x)}{2^{\delta n}} \right) \\ &\quad + \frac{8}{3} \left(\frac{\tilde{f}(2^{\delta n}(x+4y))}{2^{\delta n}} - 4 \frac{\tilde{f}(2^{\delta n}(x+3y))}{2^{\delta n}} + 6 \frac{\tilde{f}(2^{\delta n}(x+2y))}{2^{\delta n}} \right) \\ &\quad \left. + \frac{8}{3} \left(-4 \frac{\tilde{f}(2^{\delta n}(x+y))}{2^{\delta n}} + \frac{\tilde{f}(2^{\delta n}x)}{2^{\delta n}} \right) \right\| \\ &= \lim_{n \rightarrow \infty} \left\| \frac{\Delta_{2^{\delta n+2}y}^4 f(2^{\delta n+2}x)}{12 \cdot 2^{\delta n}} - \frac{\Delta_{2^{\delta n+1}y}^4 f(2^{\delta n+1}x)}{2^{\delta n}} + \frac{8 \Delta_{2^{\delta n}y}^4 f(2^{\delta n}x)}{3 \cdot 2^{\delta n}} \right\| \\ &\leq \lim_{n \rightarrow \infty} \left(\frac{\varphi(2^{\delta n+2}x, 2^{\delta+2}y)}{12 \cdot 2^{\delta n}} + \frac{\varphi(2^{\delta n+1}x, 2^{\delta n+1}y)}{2^{\delta n}} + \frac{8\varphi(2^{\delta n}x, 2^{\delta n}y)}{3 \cdot 2^{\delta n}} \right) \\ &= 0 \end{aligned}$$

for all $x, y \in V \setminus \{0\}$. In a similar way, by the definition of \tilde{f}_2 , if φ satisfies (2.18) for $k=2$, then we get

$$\left\| \Delta_y^4 F_{\delta 2}(x) \right\| = \lim_{n \rightarrow \infty} \left\| -\frac{1}{8} \left(\frac{\tilde{f}(2^{\delta n+2}(x+4y))}{4^{\delta n}} - 4 \frac{\tilde{f}(2^{\delta n+2}(x+3y))}{4^{\delta n}} \right) \right\|$$

$$\begin{aligned}
& -\frac{1}{8} \left(+6 \frac{\tilde{f}(2^{\delta n+2}(x+2y))}{4^{\delta n}} - 4 \frac{\tilde{f}(2^{\delta n+2}(x+y))}{4^{\delta n}} + \frac{\tilde{f}(2^{\delta n+2}x)}{4^{\delta n}} \right) \\
& + \frac{5}{8} \left(\frac{\tilde{f}(2^{\delta n+1}(x+4y))}{4^{\delta n}} - 4 \frac{\tilde{f}(2^{\delta n+1}(x+3y))}{4^{\delta n}} + 6 \frac{\tilde{f}(2^{\delta n+1}(x+2y))}{4^{\delta n}} \right) \\
& + \frac{5}{8} \left(-4 \frac{\tilde{f}(2^{\delta n+1}(x+y))}{4^{\delta n}} + \frac{\tilde{f}(2^{\delta n+1}x)}{4^{\delta n}} \right) \\
& - 2 \left(\frac{\tilde{f}(2^{\delta n}(x+4y))}{4^{\delta n}} - 4 \frac{\tilde{f}(2^{\delta n}(x+3y))}{4^{\delta n}} + 6 \frac{\tilde{f}(2^{\delta n}(x+2y))}{4^{\delta n}} \right) \\
& - 2 \left(-4 \frac{\tilde{f}(2^{\delta n}(x+y))}{4^{\delta n}} + \frac{\tilde{f}(2^{\delta n}x)}{4^{\delta n}} \right) \Big\| \\
& = \lim_{n \rightarrow \infty} \left\| \frac{\Delta_{2^{\delta n+2}y}^4 f(2^{\delta n+2}x)}{8 \cdot 4^{\delta n}} - 5 \frac{\Delta_{2^{\delta n+1}y}^4 f(2^{\delta n+1}x)}{8 \cdot 4^{\delta n}} + \frac{2 \Delta_{2^{\delta n}y}^4 f(2^{\delta n}x)}{4^{\delta n}} \right\| \\
& \leq \lim_{n \rightarrow \infty} \left(\frac{\varphi(2^{\delta n+2}x, 2^{\delta n+2}y)}{8 \cdot 4^{\delta n}} + \frac{5\varphi(2^{\delta n+1}x, 2^{\delta n+1}y)}{8 \cdot 4^{\delta n}} + \frac{2\varphi(2^{\delta n}x, 2^{\delta n}y)}{4^{\delta n}} \right) \\
& = 0
\end{aligned}$$

for all $x, y \in V \setminus \{0\}$. Finally, by the definition of \tilde{f}_3 , if φ satisfies (2.18) for $k = 3$, then we have

$$\begin{aligned}
& \left\| \Delta_y^4 F_{\delta 3}(x) \right\| = \lim_{n \rightarrow \infty} \left\| \frac{1}{24} \left(\frac{\tilde{f}(2^{\delta n+2}(x+4y))}{8^{\delta n}} - 4 \frac{\tilde{f}(2^{\delta n+2}(x+3y))}{8^{\delta n}} \right) \right. \\
& + \frac{1}{24} \left(6 \frac{\tilde{f}(2^{\delta n+2}(x+2y))}{8^{\delta n}} - 4 \frac{\tilde{f}(2^{\delta n+2}(x+y))}{8^{\delta n}} + \frac{\tilde{f}(2^{\delta n+2}x)}{8^{\delta n}} \right) \\
& - \frac{1}{4} \left(\frac{\tilde{f}(2^{\delta n+1}(x+4y))}{8^{\delta n}} - 4 \frac{\tilde{f}(2^{\delta n+1}(x+3y))}{8^{\delta n}} + 6 \frac{\tilde{f}(2^{\delta n+1}(x+2y))}{8^{\delta n}} \right) \\
& - \frac{1}{4} \left(-4 \frac{\tilde{f}(2^{\delta n+1}(x+y))}{8^{\delta n}} + \frac{\tilde{f}(2^{\delta n+1}x)}{8^{\delta n}} \right) \\
& + \frac{1}{3} \left(\frac{\tilde{f}(2^{\delta n}(x+4y))}{8^{\delta n}} - 4 \frac{\tilde{f}(2^{\delta n}(x+3y))}{8^{\delta n}} + 6 \frac{\tilde{f}(2^{\delta n}(x+2y))}{8^{\delta n}} \right) \\
& + \frac{1}{3} \left(-4 \frac{\tilde{f}(2^{\delta n}(x+y))}{8^{\delta n}} + \frac{\tilde{f}(2^{\delta n}x)}{8^{\delta n}} \right) \Big\| \\
& = \lim_{n \rightarrow \infty} \left\| \frac{\Delta_{2^{\delta n+2}y}^4 f(2^{\delta n+2}x)}{24 \cdot 8^{\delta n}} - \frac{\Delta_{2^{\delta n+1}y}^4 f(2^{\delta n+1}x)}{4 \cdot 8^{\delta n}} + \frac{\Delta_{2^{\delta n}y}^4 f(2^{\delta n}x)}{3 \cdot 8^{\delta n}} \right\|
\end{aligned}$$

$$\begin{aligned} &\leq \lim_{n \rightarrow \infty} \left(\frac{\varphi(2^{\delta n+2}x, 2^{\delta n+2}y)}{24 \cdot 8^{\delta n}} + \frac{\varphi(2^{\delta n+1}x, 2^{\delta n+1}y)}{4 \cdot 8^{\delta n}} + \frac{\varphi(2^{\delta n}x, 2^{\delta n}y)}{3 \cdot 8^{\delta n}} \right) \\ &= 0 \end{aligned}$$

for all $x, y \in V \setminus \{0\}$. And then, since $\Delta_y^4 F_{\delta k}(x) = 0$ for all $x, y \in V \setminus \{0\}$, the mapping $F_{\delta k}$ is a general cubic mapping for all $k = 1, 2, 3$ and $\delta = \pm 1$ by Lemma 2.4.

Step 2. Now we define the desired general cubic mapping F for all cases.

(1) Let φ satisfy the condition (2.8), then F_1, F_2 , and F_3 are well defined by (2.19). We put a general cubic mapping $F : V \rightarrow Y$ by

$$F(x) := F_1(x) + F_2(x) + F_3(x)$$

for all $x \in V$. Observe that.

$$\begin{aligned} &\left\| \sum_{k=1}^3 \tilde{f}_k(x) - \sum_{k=1}^3 \frac{\tilde{f}_k(2^n x)}{2^{kn}} \right\| \leq \sum_{i=0}^{n-1} \left\| \sum_{k=1}^3 \left(\frac{\tilde{f}_k(2^i x)}{2^{ki}} - \frac{\tilde{f}_k(2^{i+1} x)}{2^{k(i+1)}} \right) \right\| \\ &\leq \sum_{i=0}^{n-1} \left(\frac{1}{24 \cdot 2^i} - \frac{1}{32 \cdot 4^i} + \frac{1}{192 \cdot 8^i} \right) \|\Gamma \tilde{f}(2^i x)\| \\ &\leq \sum_{i=0}^{n-1} \left\| \frac{\Gamma \tilde{f}(2^i x)}{24 \cdot 2^i} \right\| \leq \frac{1}{24} \sum_{i=0}^{n-1} \frac{\Phi(2^i x)}{2^i} \end{aligned}$$

for all $x \in V \setminus \{0\}$, which follows (2.12) as $n \rightarrow \infty$.

(2) Let φ satisfy the condition (2.9), then F_{-1}, F_2 , and F_3 are defined by (2.19). Putting a general cubic mapping $F : V \rightarrow Y$ by

$$F(x) := F_{-1}(x) + F_2(x) + F_3(x)$$

for all $x \in V$. Then we have

$$\begin{aligned} &\left\| \tilde{f}_1(x) - 2^n \tilde{f}_1\left(\frac{x}{2^n}\right) - \sum_{k=2}^3 \left(\tilde{f}_k(x) - \frac{\tilde{f}_k(2^n x)}{2^{kn}} \right) \right\| \\ &\leq \sum_{i=0}^{n-1} \left\| 2^i \tilde{f}_1\left(\frac{x}{2^i}\right) - 2^{i+1} \tilde{f}_1\left(\frac{x}{2^{i+1}}\right) \right\| + \sum_{i=0}^{n-1} \left\| \sum_{k=2}^3 \left(\frac{\tilde{f}_k(2^i x)}{2^{ki}} - \frac{\tilde{f}_k(2^{i+1} x)}{2^{k(i+1)}} \right) \right\| \end{aligned}$$

$$\begin{aligned}
&\leq \sum_{i=0}^{n-1} \left\| \frac{2^i}{12} \Gamma \tilde{f} \left(\frac{x}{2^{i+1}} \right) \right\| + \sum_{i=0}^{n-1} \left(\frac{1}{32 \cdot 4^i} - \frac{1}{192 \cdot 8^i} \right) \left\| \Gamma \tilde{f}(2^i x) \right\| \\
&\leq \frac{1}{12} \sum_{i=0}^{n-1} 2^i \Phi \left(\frac{x}{2^{i+1}} \right) + \frac{1}{32} \sum_{i=0}^{n-1} \frac{\Phi(2^i x)}{4^i}
\end{aligned}$$

for all $x \in V \setminus \{0\}$, which follows (2.13) as $n \rightarrow \infty$.

(3) Let φ satisfy the condition (2.10), then F_{-1}, F_{-2} , and F_3 are defined by (2.19). Putting a general cubic mapping

$$F(x) := F_{-1}(x) + F_{-2}(x) + F_3(x)$$

for all $x \in V$. We have the inequality

$$\begin{aligned}
&\left\| \sum_{k=1}^2 \left(\tilde{f}_k(x) - 2^{kn} \tilde{f}_k \left(\frac{x}{2^n} \right) \right) + \tilde{f}_3(x) - \frac{\tilde{f}_3(2^n x)}{2^{3n}} \right\| \\
&\leq \sum_{i=0}^{n-1} \left\| \sum_{k=1}^2 \left(2^{ki} \tilde{f}_k \left(\frac{x}{2^i} \right) - 2^{k(i+1)} \tilde{f}_k \left(\frac{x}{2^{i+1}} \right) \right) \right\| \\
&\quad + \sum_{i=0}^{n-1} \left\| \frac{\tilde{f}_3(2^i x)}{2^{3i}} - \frac{\tilde{f}_3(2^{i+1} x)}{2^{3(i+1)}} \right\| \\
&\leq \sum_{i=0}^{n-1} \left(\frac{4^i}{8} - \frac{2^i}{12} \right) \left\| \Gamma \tilde{f} \left(\frac{x}{2^{i+1}} \right) \right\| + \sum_{i=0}^{n-1} \left\| \frac{\Gamma \tilde{f}(2^i x)}{192 \cdot 8^i} \right\| \\
&\leq \frac{1}{8} \sum_{i=0}^{n-1} 4^i \Phi \left(\frac{x}{2^{i+1}} \right) + \frac{1}{192} \sum_{i=0}^{n-1} \frac{\Phi(2^i x)}{8^i}
\end{aligned}$$

for all $x \in V \setminus \{0\}$, which follows (2.14) as $n \rightarrow \infty$.

(4) Let φ satisfy the condition (2.11), then F_{-1}, F_{-2} , and F_{-3} are defined by (2.19). Putting a general cubic mapping

$$F(x) := F_{-1}(x) + F_{-2}(x) + F_{-3}(x)$$

for all $x \in V$. We have the inequality

$$\begin{aligned} & \left\| \sum_{k=1}^3 \left(\tilde{f}_k(x) - 2^{kn} \tilde{f}_k\left(\frac{x}{2^n}\right) \right) \right\| \\ & \leq \sum_{i=0}^{n-1} \left\| \sum_{k=1}^3 \left(2^{ki} \tilde{f}_k\left(\frac{x}{2^i}\right) - 2^{k(i+1)} \tilde{f}_k\left(\frac{x}{2^{i+1}}\right) \right) \right\| \\ & \leq \sum_{i=0}^{n-1} \left\| \left(\frac{2^i}{12} - \frac{4^i}{8} + \frac{8^i}{24} \right) \Gamma \tilde{f}\left(\frac{x}{2^{i+1}}\right) \right\| \\ & \leq \sum_{i=2}^{n-1} \left\| \left(\frac{2^i}{12} - \frac{4^i}{8} + \frac{8^i}{24} \right) \Gamma \tilde{f}\left(\frac{x}{2^{i+1}}\right) \right\| \leq \frac{1}{24} \sum_{i=2}^{n-1} 8^i \Phi\left(\frac{x}{2^{i+1}}\right) \end{aligned}$$

for all $x \in V \setminus \{0\}$, since $\frac{2^i}{12} - \frac{4^i}{8} + \frac{8^i}{24} = 0$ when $i \in \{0, 1\}$, which follows (2.15) as $n \rightarrow \infty$. Moreover, by the definition, we easily get

$$F_{\delta k}(2x) = 2^k F_{\delta k}(x)$$

and $\Delta_y^4 F_{\delta k}(x) = 0$ for all $x, y \in V$. According to Lemma 2.4, F is the unique general cubic mapping. □

Using this theorem 2.5, we can obtain the following corollary that improve Corollary 3.6 in [5].

COROLLARY 2.6. [5] *Let θ be a positive real constant and p a real number such that $p \neq 1, 2, 3$. If $f : X \rightarrow Y$ satisfies the inequality*

$$\left\| \Delta_y^4 f(x) \right\| \leq \theta(\|x\|^p + \|y\|^p)$$

for all $x, y \in X \setminus \{0\}$, then there exists a mapping F such that $\Delta_y^4 F(x) = 0$ and

$$\begin{aligned} \|\tilde{f}(x) - F(x)\| & \leq \frac{M\theta\|x\|^p}{12(2-2^p)} && \text{for } p < 1, \\ \|\tilde{f}(x) - F(x)\| & \leq \frac{M\theta\|x\|^p}{12(2^p-2)} + \frac{M\theta\|x\|^p}{8(4-2^p)} && \text{for } 1 < p < 2, \\ \|\tilde{f}(x) - F(x)\| & \leq \frac{M\theta\|x\|^p}{8(2^p-4)} + \frac{M\theta\|x\|^p}{24(8-2^p)} && \text{for } 2 < p < 3, \\ \|\tilde{f}(x) - F(x)\| & \leq \frac{8M\theta\|x\|^p}{3 \cdot 4^p(2^p-8)} && \text{for } 3 < p \end{aligned}$$

for all $x \in X \setminus \{0\}$, where $M := 8^p + 20 \cdot 4^p + 5 \cdot 2^p + 56$.

References

- [1] P. Găvruta, *A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings*, J. Math. Anal. Appl., **184** (1994), 431–436.
- [2] D. H. Hyers, *On the stability of the linear functional equation*, Proc. Natl. Acad. Sci., USA **27** (1941), 222–224.
- [3] K.-W. Jun and H.-M. Kim, *On the Hyers-Ulam-Rassias stability of a general cubic functional equation*, Math. Inequal. Appl., **6** (2003), 289–302.
- [4] S.M.Jung, Y.H.Lee and J.Roh, *A uniqueness theorem for stability problems of functional equations*, Symmetry **2024**, 16, 1298.
- [5] Y.-H. Lee, *On the generalized Hyers-Ulam stability of the generalized polynomial function of degree 3*, Tamsui Oxf. J. Math. Sci., **24(4)** (2008), 429–444.
- [6] Y.-H. Lee, *On the Hyers-Ulam-Rassias stability of the generalized polynomial function of degree 3*, Nonlinear Funct. Anal. Appl., **14** (2009), 465–476.
- [7] Th. M. Rassias, *On the stability of the linear mapping in Banach spaces*, Proc. Amer. Math. Soc., **72** (1978), 297–300.
- [8] S.M. Ulam, *A Collection of Mathematical Problems*, Interscience, New York, 1960.

Sun-Sook Jin

Department of Mathematics Education
Gongju National University of Education
Gongju 32553, Republic of Korea
E-mail: ssjin@gjue.ac.kr

Yang-Hi Lee

Department of Mathematics Education
Gongju National University of Education
Gongju 32553, Republic of Korea
E-mail: yanghi22@naver.com